T o e

Find % of 56 =
3402 + 27 =

Write 836 in Roman Numerals

30x70=

-15-18 =

810+ 100 =

/x_ =49

Round 763 to the nearest 10

2753 x 18 =
2752 + 1000 =

Find g of 108 =

3996 + 27 =

Write 1867 in Roman
Numerals =

3000 x 70 =

-26—-34 =

81+ 1000 =

/X =63

Round 8653 to the nearest 10

3642 x 18 =
7226 + 1400 =

Find == of 112 =
14
4941 + 27 =

Write 2853 in Roman
Numerals =

0.03 x 7000 =

-73—-125=

810 + 1000 =

8x =56

Round 9839 to the nearest 10

6524 x 18 =
8752 +1120 =



Find % of 56 = 24
3402 + 27 = 126

Write 836 in Roman Numerals
= DCCCXXXVI

30x70=2100
-15-18=-33
810+100=8.1
/x7=49

Round 763 to the nearest 10
=760

2753 x 18 = 49554
2752 + 1000 = 3752

Find g of 108 = 84

3996 + 27 =148

Write 1867 in Roman
Numerals = MDCCCLXVII

3000 x 70 = 210000
-26 —34 =-60

81 + 1000 =0.081
7x9=63

Round 8653 to the nearest 10
= 8650

3642 x 18 = 65556
7226 + 1400 = 8626

Find =2 of 112 = 96
14
4941 = 27 = 183

Write 2853 in Roman
Numerals = MMDCCCLIII

0.03 x 7000 = 210

-73—-125=-198
810+ 1000 =0.81
8x7=56

Round 9839 to the nearest 10
= 9840

6524 x 18 = 117432
8752 + 1120 =9872



